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@ vork out the missing lengths on these shapes.

a) b)
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© coluiate the perimeter of these shapes.
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o Mo thinks that there is not enough information to calculate the
perimeter of the shape.

Is he correct? How do you know?
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Here is a square inside another square.

[]

The perimeter of the inner square is 16 cm

The outer square’s perimeter is four times the size of
the inner square.

What is the length of one side of the outer square?
How do you know? What do you notice?
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o Calculate the perimeter of each shape.
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° Calculate the perimeter of these shapes.
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© colculate the perimeter of these shapes.
a) b)
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